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= 342,672 346,217 A3,545
= 20,378 20,378 0
J| 874,845 858,525 16,320
== 936,604 914,318 22,286
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= 338,672 342,217 A3,545
sy 20,378 20,378 0
J| 874,845 858,525 16,320
< 936,604 914,318 22,286
Al 4,400,913 4,367,771 33,142
SU=sE JIXIML & ASSE I8 1,193,004 1,188,995 4,009
= 3,290 3,290 0
sy 20,378 20,378 0
J| 756,343 756,343 0
< 34,902 37,313 A2,411
Al 378,091 371,671 6,420
s&E 201l =oid] X (REMIZEDH 12,688 0 12,688
301 LetE &= 12,688 0 12,688
14 JIEIE 43 12,688 0 12,688
O=s4t2 &el =ibiel X
12,687,500 12,688 0 12,688
MRS HEAL 6,024 14,063 /8,039
< 1,808 4,219 A2,411
Al 4,216 9,844 Ab,628
402 2IZ2tXHE20]H 6,024 14,063 28,039
= 1,808 4,219 A2,411
Al 4,216 9,844 Nb,628
02 QIZFRHE2 AT E X (OIHTHA) 6,024 14,063 28,039
OsttE SRS MEAE K&
6,024,000 6,024 14,063 28,039
== 1,808 4,219 A2,411
Al 4,216 9,844 25,628
ALK 22| 37,440 38,080 2640
405 KHaHF S| 2,960 3,600 2640
01 ML SEFH S| 2,960 3,600 2640
OXlott3a Mo 2 2,960,000 2,960 3,600 AB40
GAP BE2IS XA 1,500 1,500 0
201 LEtE3H| 500 1,500 21,000
01 AtR2eld] 500 1,500 21,000
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301 LB2ES 1,000 0 1,000
14 J|Et2 432 1,000 0 1,000
OalAteIEHIS I 1,000,000 1,000 0 1,000
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= 32,250 32,250 0
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= 3,500 0 3,500
& 1,500 0 1,500
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= 700 0 700
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OJIAAZHEAIAE AIEE
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detdse =4 268,715 272,402 A3,687
= 29,221 26,266 2,955
= 21,345 20,470 875
Al 218,149 225,666 NT,517
FIsSAM K& 2,294 2,421 A127
= 918 968 A50
= 413 436 VAVA
Al 963 1,017 NB4
307 2120l 2,294 2,421 A127
= 918 968 250
= 413 436 VAVA
Al 963 1,017 NB4
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= 918 968 250
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Al 963 1,017 NB4
SIIZHIZ X2 (XHZIH 23,347 30,000 A\B,653
402 212HA+E01A 23,347 30,000 A\B,653
03 2RI EFALEHI 23,347 30,000 A\B,653
ORIIEHIZ Sa(XHAM=I)
23,347,000 23,347 30,000 A\B,653
EHEN XA 37,750 31,751 5,999
= 24,423 21,418 3,005
= 3,999 3,101 898
Al 9,328 7,232 2,09
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= 139,225 139,225 0
J| 118,502 102,182 16,320
< 86,990 77,268 9,722
Al 593,925 563,708 30,217
LYY 54 24,929 22,430 2,499
< 7,480 6,730 750
Al 17,449 15,700 1,749
307 2I2t01 & 14,129 11,630 2,499
o= 4,240 3,490 750
Al 9,889 8,140 1,749
02 QIHEAMAMAEE 14,129 11,630 2,499
OLALSEAHE SH(L=3HE)
14,129,000 14,129 11,630 2,499
[ 4,240 3,490 750
Al 9,889 8,140 1,749
=Y AESIH HASZH X& 24,000 10,000 14,000
< 7,200 3,000 4,200
Al 16,800 7,000 9,800
206 M=l 24,000 10,000 14,000
[ 7,200 3,000 4,200
Al 16,800 7,000 9,800
01 MZHl 24,000 10,000 14,000
OB HASZH XA 24,000,0002 24,000 10,000 14,000
== 7,200 3,000 4,200
Al 16,800 7,000 9,800
S SOMMIE 76,280 38,200 38,080
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Al 33,968 16,560 17,408
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J| 33,820 17,500 16,320
< 8,492 4,140 4,352
Al 33,968 16,560 17,408
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[ 420 0 420
Al 1,260 0 1,260
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[ 420 0 420
Al 1,260 0 1,260
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Al 1,260 0 1,260
SAI|BAIL erMzte| 1,537,523 1,537,523 0
= 8,400 8,400 0
< 123,097 121,597 1,500
Al 1,406,026 1,407,526 1,500
UEg sHIH XN 10,000 10,000 0
= 5,000 5,000 0
[ 1,500 0 1,500
Al 3,500 5,000 1,500
405 XHAHESH| 10,000 10,000 0
= 5,000 5,000 0
[ 1,500 0 1,500
Al 3,500 5,000 1,500
01 AL EFFSHI 10,000 10,000 0
Ousg =4J/H XA 10,000,000 10,000 10,000
= 5,000 5,000
[ 1,500 0 ,500
Al 3,500 5,000 21,500
AT =QAIM AREX (LI |=HIE) 2,000 3,000 A1,000
ANEAH ARFE(ZSS) (=Y I=HH) 0 1,000 A1,000
203 HRF&I| 0 1,000 A1,000
03 Al FRARFEIH| 0 1,000 A1,000
OAZAH H2FA(SE) o 0 1,000 21,000
BliESE 25 - &2l 430,619 393,619 37,000
= 8,860 8,860 0
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Al 29,400 10,500 18,900
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14 J|Et2 43 42,000 15,000 27,000
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< 1,500 600 900

Al 3,500 1,400 2,100

201 et | 5,000 2,000 3,000

< 1,500 600 900

Al 3,500 1,400 2,100

01 AtR2teld 5,000 2,000 3,000
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50,0002« 100E 5,000 2,000 3,000

< 1,500 600 900

Al 3,500 1,400 2,100

FIISSAHH PIHAE Xel X 2,250 1,250 1,000
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Hees(s2IIsdH) (sdsd/sY - &) 311,017 146,272 164,745
28NS 311,017 146,272 164,745
=EHIEtE=E 311,017 146,272 164,745
802 Btet=2D1Ef 311,017 146,272 164,745
01 S NEX3LEZ 162,202 121,207 40,99
020218 =XS22IXJAAS Z@EH I 0]
Xt 1,110, 130& 1,111 0 1,111
020228 sU{ERIEF MHIA HESAS &
SHRHOH o1 Q| Kt 90,740 91 0 91
O2022d sEMESL0I2 B0 XISA
of ZHEIOH QU O|X} 204,880% 205 0 205
0202249 sEXNESL0E AREME I
AFR! OIXH 23,3708 24 0 2
020229 sEME S0 ALet WFA
& OIXt 1,250 2 0 2
020224 HIZoHA ot XIRAAIY ZeHared
OIXt 33, 188,2002! 33,189 0 33,189
020224 4R S A SAMSIIAAYE S
Tk 2 O X 3,221,3302 3,222 0 3,222
020228 23 2e| et EH
2,072,200 2,078 0 2,078
02022 ZAIZMAD | EHEES ALY &S RHoH
L 0Kt 590, 740! 591 0 591
02022 =420/ (HEREH]) ArgHl &
SHErol 2 Q| At 193,550& 194 0 194
020228 E2HEN Zaater & Of Xt
292,630 293 0 293
02 Al - EHIEZZEtES 148,815 25,065 123,750
020224 JIEdE & HEES NJAY 8
oK 210,000 210 0 210
020224 AT sl XIJAY &
&tol 9l Okt 106,874,070 106,875 0 106,875
020228 N =R sHAH| XA S
&R 9l Of Xt 786,3902 787 0 787
020224 =J|1H E&EE X2 AL OIAt
8,090& 9 0 9
020228 =H5A3AR =HEEX KFAAMS 0]
Xt 950! 1 0 1
020228 sHE HAls 2l X2AY &
&R 9l Of Xt 1,002,730 1,003 0 1,003
020223 =0l oHNMEH XIRIAFY Ok
40,8702 41 0 41
o022 === THHEE KA O Xt
41,9302 42 0 42
20223 =EMEs20E AIREME XIJ
AP OIRE 4,4102 5 0 5
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02022 HIZIH oFN XA &IgHZod ol
OlXt 6,398,180 6,399 6,399
020228 AXIMSAIA KIIAL ElsHEoH
Ol Xt 5,234,870 5,235 5,235
020228 ME5A LAHIY XA OIX
2,2002 3 3
02022 AsIF AHz2| XA ZsHEroH
3,000 3 3
02022 RI1ZHI2 KA TISRIH A Q]
At 403,170 404 404
020221 AR ZEHH SASXIAAY ZEH
o4 o O X} 966,398 %7 %7
020228 EALZAHAD|BHEHEAL] ZEIBH KrOH
2 OIXt 236,670 237 237
020228 HOIZALS MAF S KIRIAN] &I
&hoH 1,407,000 1,407 1,407
020228 SA20/Z M (HESEH|) AHl &
SHErOH 21 0|} 38,7102 39 39
020228 EQIN2ER ZBHEIH L 0| X}
82,8602 83 83




